
  

CH 3CH 2OH (l )+2O2(g ) → 2 CO2(g)+3 H 2O (l )

Δ H 0=2⋅Δ H f
0 [CO2(g )]+3⋅ΔH f

0 [H 2O (l )]−Δ H f
0 [CH 3CH 2OH (l )]

ΔH 0=2×(−393,5)+3×(−285,8)−(−227,7)=−1416,7 kJ /mol

C8H 18(l)+
25
2
O2(g ) → 8 CO2 (g )+9 H 2O (l )

ΔH 0=8⋅Δ H f
0 [CO2(g )]+9⋅Δ H f

0 [H 2O (l)]−Δ H f
0 [C8H 18(l )]

Δ H 0=8×(−393,5)+9×(−285,8)−(−250,1)=−5470,1 kJ /mol

Δ H 0=−1416,7
2

kJ /mol CO2

ΔH 0=−708.4 kJ /mol CO2

Δ H 0=−5470,1
8

kJ /molCO2

ΔH 0=−683,8 kJ /molCO2

M CH 3CH 2OH
=46 g /mol

M C8H 18
=114 g /mol

nCH 3CH 2OH
= m
M

= 1
46
mol

nC 8H 18
= m
M

= 1
114

mol

Q p=n⋅Δ H
0= 1

46
⋅(−1416,7)=30,8 kJ

Q p=n⋅Δ H
0= 1

114
⋅(−5470)=−48,0kJ

(a)

(a)

(b)

(b)

(c)

(c)
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